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Problem 1 
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For the circuit shown above find the maximum power absorb by the load resistor  RL  ? 
 
 

UProblem 2 
A variable resistor RL is to be connected to terminals a and b in the circuit show.  The resistor is 

adjusted for maximum power transfer.   

a) Find the numerical value of RL.  

b) Find the maximum power transferred to RL. 
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Problem 3 
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Using the superposition principle, find the voltage across the 3 Ω resistor  v ?  
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Problem 4 

 
Using the superposition principle, find the current  io ?  
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